Lesson Aim: Plotting graphs of straight line equations


1) What are the equations of the lines shown

a) Draw the line x = 3, label the line

b) Draw the line y = 4, label the line

c) The lines x = 3 and y = 4 meet at a point.

The point of intersection is ( __ , __ )

2) Complete the tables for the following equations and plot the lines on the graph

a) y = x

	x
	0
	1
	2
	3
	4
	5

	y
	
	
	
	
	
	


b) y = 2x

	x
	0
	1
	2
	3
	
	

	y
	
	
	
	
	
	


Which graph is steepest?

3) Complete the tables for the following equations and plot the lines on the graph

a) y = x - 1

	x
	0
	1
	2
	3
	4
	5

	y
	
	
	
	
	
	


b) y = 2x - 1

	x
	0
	1
	2
	3
	
	

	y
	
	
	
	
	
	


Which graph is steepest?

Each line crosses the y axis at ( __ , __ )

How does y increase as x increases?


4) Complete the tables for the following equations label the graph and plot the lines on the graph.

a) y = x + 1

	x
	
	
	
	
	
	

	y
	
	
	
	
	
	


b) y = x + 2

	x
	
	
	
	
	
	

	y
	
	
	
	
	
	


c) y = x + 3

	x
	
	
	
	
	
	

	y
	
	
	
	
	
	


Where does each line cross the y axis?

How does y increase as x increases?

5) Complete the tables for the following equations label the graph and plot the lines on the graph.

a) y = 2x - 1

	x
	
	
	
	
	
	

	y
	
	
	
	
	
	


b) y = 2x - 2

	x
	
	
	
	
	
	

	y
	
	
	
	
	
	


c) y = 2x - 3

	x
	
	
	
	
	
	

	y
	
	
	
	
	
	


Where does each line cross the y axis?

How does y increase as x increases?
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